
<latexit sha1_base64="ooPGGyloDdUHd+JCnq04bQtqHvs="></latexit>

D = 52 [m] NWT = 10
Prated = 2 [MW] ⇢W = 10.0 [MW/km2]
min(WTspacing) = 5.3D

<latexit sha1_base64="tQ9J0T5hTNUK+utW8f5bgWvMcvw="></latexit>

D = 52 [m] NWT = 21
Prated = 2 [MW] ⇢W = 4.0 [MW/km2]
min(WTspacing) = 8.3D

<latexit sha1_base64="ooPGGyloDdUHd+JCnq04bQtqHvs="></latexit>

D = 52 [m] NWT = 10
Prated = 2 [MW] ⇢W = 10.0 [MW/km2]
min(WTspacing) = 5.3D

<latexit sha1_base64="tQ9J0T5hTNUK+utW8f5bgWvMcvw="></latexit>

D = 52 [m] NWT = 21
Prated = 2 [MW] ⇢W = 4.0 [MW/km2]
min(WTspacing) = 8.3D

<latexit sha1_base64="DtYjjf0SMY/Kek7J4TOX+hovVdQ="></latexit>

D = 52 [m] NWT = 21
Prated = 2 [MW] ⇢W = 4.0 [MW km�2]
min(WTspacing) = 8.3D

<latexit sha1_base64="jojSoGoaE3hUWjGyOe9/x6Tder8="></latexit>

D = 52 [m] NWT = 10
Prated = 2 [MW] ⇢W = 10.0 [MW km�2]
min(WTspacing) = 5.3D


